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1) Indique a saida dos codigos-fontes a seguir:

1)
int main(){ if((X + 2) >Y)
float X, VY: printf(“X = %d - Y = %d”,
Y);
X = 10; else
Y = X * X; printf(“X = %d - Y = %d”,
X =X*2; Y);
X =X *X;
Y = 2; return 0;
}
printf(“X = %f - Y = %f", X, Y);
5)
return 0; int main(){
} float X, Y;
2) X = 17 - pow(2,4);
int main(){ Y =X*3-2;
int X, Y; if(X <Y)
float Z; Y =4/ 3;
else {
X = 10; X =X * 2;
Y = 100; if(X > Y)
Z = 1000; printf(“X = %f - Y =
Z=2Z- (X+Y)* 4 X, Y + 1);
X = 5; else
Z2=2/2+X; printf(“X = %f - Y =
1, Y *Y);
printf((“X = %d - Y = %d - Z = %f”, 3}
X, Y, Z2); return 0;
}
return 0;
} 6)
int main(){
float X, Y;
3)
int main(){ X = 4;
float X, Y; Y = 2;
if((X * X) <)
X =4 * pow((3 + (15 / (10-5))),2); Y =9/ 3;
Y = X *X; else {
X =X*X; if(X == (2 *Y))
Y=Y/ X; Y = pow(Y,3);
printf(“X = %f - Y = %f", X, Y); if(y 1= (X * 2))
X = 12;
return 0; printf(“X = %f - Y =
} 1, Y *Y);
else
4) Y = X;
int main(){ printf(“X = %f - Y =
int X, Y; pow(X,Y), Y *Y);
X = pow(1,15); }
Y=27/ (1 +X+ (5/2-1.5)); return 0;
X=X *Y;
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2) Indique a saida dos trechos abaixo, considerando:

A=8; B=1; C=15; D=3;

a)
if(D > 5)
X = (A+B) * D
else

printf(“x = %f”, X);

b)
if((A>C) && (B !'=7)){

X=(A+1) * (B-2);
X =X* -1;

else{
X=(A*B)/D?* (C+ D);
X =X* -1;

}

printf(“X = %f”, X);

c)

if((A==2) || "(B< 7))
X=(A+2)* (B-2C);

else

X=(A+B)/D?* (C-D);
printf(“x = %f”, X);

d)
if(!E(A >2) || (B <7))){

X A+ (B - D);
X 15 * 2 + 1 + X * -1;

3

else{
X=A-X* -1;
X=X*C+ 1;

3

printf(“x = %f”, X);

e)

if('(A>D) || '(!'(B <7)))
X=A+B * B;

else

X = A/ pow(B,3);

printf(“x = %f”, X);

f)
if(!'(A > 3) && (B <= (pow(1,3)){
X = A + D;
X =X - A+ pow(1,125);
else {
X =D/ B;
X=X *C + pow(1,72);

printf(“x = %f”, X);

)
if(((C * C) >= 2) && !(B <= A)){
X = (A + D) / 2 - D,

X = 4;
else{
X=D*C - 4;
X = 4;
}
printf(“x = %f”, X);
h)
if((A >=2) || (C <= 1)){
X=(A+D)/ 2
X:X+D*2;
}
else{
X =D * C;
X=X*C+ 1,
}
printf(“x = %f”, X);
i)
if((A >= D) && !(C != 1)){
X=(A+D)/ 2-0.5;
X = pow(X,3) + 125;
X=X/ (2 * pow(5,2));
X=((A+D) /2 -0.5) +5;
X=X/ 2;
}
else{
X=(A+D)/ 2-0.5;
X = X + pow(1,5);
X = pow(X,3) + 125;
X=((X-216) *2) / (2 *
pow(5,2));
X=((A+D)/ 2 -0.5) +5;
X=X/ 2;
X=X+ 1;
}
printf(“x = %f”, X);
j)
if((A>= (C - 2)) || (C<=1)){
X=(A+D)/ 2;;
X = pow(A,D) / 2 - 18;
X = pow(X,D) * 18;
X = (pow(X,D) - 9) * 18;
X = (X / 17);
}
else{
X =D * C;
X = pow(A,D) / 2 - 18;
X = pow(X,D) * 18;
X = (pow(X,D) * 34) * 18;
X=(X79);
}

X =1;
printf(“x = %f”, X);
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